Name:

Date:

Subject

Select the correct pronouns from the brackets to complete each
sentence:

1.

2.

3.

10.

This is the man (who, whom) we selected.

This is the boy ( who, whom) broke the test tube.

The doctor (who, whom) was awarded the Nobel prize is from
Jamaica.

Children (who, whom) obey their parents are admired.

. This is the nurse (who, whom) | met while | was in the hospital.

(Who, Whom) is to be bl;amed for your mistakes?
| believe that this is the artiste (who, whom) performed at the concert.
Do you believe that Christopher Columbus was the first European
(who, whom) came to the West Indies?
Labour leaders (who, whom) incite workers to strike should offer
wages to the workers’ families.

| think that mary is the girl (who, whom) should represent our

class.
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